MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

TWO DIGIT DECIMAL NUMBER 1;?;1: o
9 —0.3 x (—0.0035) = w0 —0.7 x (—6) =
22 0.001 x 3.2 = ) 0.04 x (—8.9) =
293 0 x (—0.0042) = w08 7 x (—0.06) =
309 —0.009 x 0.041 = 109 —5 x 0.0043 =
395 —6 X 84 = 4100 (0.0006 x 0.1 =
396 —(.008 x 0.0065 = a1 —0.0008 x 1.5 =
97 0.07 X (—2.8) = 12 —2 x (—65) =

398) —(.008 X 9.5 =

29 (0.03 x (—0.029) =
w00 0.0006 x (—0.0073) =
w1 —0.7 x 0.0048 =

102) - —0.008 X 0.54 =

03) (0 x (—0.052) =

0y () x (—0.82) =

) 0.004 x (—0.061) =

Mathematics: Multiplication - Level 7 - Horizontal - Set 4
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—0.0005 x 0.073 =
0.0002 x (—0.78) =
0.6 x (=0.01) =
0.01 x 0.0015 =
0.06 x (—0.0091) =
0.4 x (—0.085) =
0.1 x5.1=

0.5 x (—0.038) =
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